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: L5 3ARK 9.42 0.00 22, 800 26, 700 13, 350 20, 025
9 SR T 3ARK 9.20 0.00 26, 300 28, 800 14, 400 21, 600
3 s T 3ARK 7.90 0.00 25,200 20, 400 10, 200 15, 300
A 75 Y 3AR 6.00 0.00 19, 700 15,000 7,500 11, 250
’ (6. 80) (23, 900) (16, 800) (8, 400) (12, 600)
3ARK 6.39 0.00 24 300 18, 200 9,100 13, 650
° | WEM (6.65)|  (11.00)| (26.100)| (24 400)|  (i2.200)| (18, 300)
6 | =T 3ARK 8.17 0.00 26, 600 20, 300 10, 150 15, 225
7 I 3ARK 8.30 0.00 28, 500 21,000 10, 500 15, 750
(26 000)|  (13.000)| (19, 500)
8 AL 3AR 7.05 0.00 22,000 26, 000 13, 000 19, 500
9 ey 3AR 7.90 0.00 28, 800 21, 600 10, 800 16, 200
10 T 3ARK 71.70 0.00 29, 200 22,000 11,000 16, 500
11 AR 3ARK 8.30 0.00 26, 400 24,000 12,000 18, 000
12 | BitR™ 3ARK 8.50 0.00 26, 900 26, 000 13, 000 19, 500
13 R 3ARK 8.00 0.00 26, 600 20, 600 10, 300 15, 450
14 Ly BT 3ARK 71.40 0.00 29,700 21, 800 10, 900 16, 350
15 LI AT 3AR 71.35 0.00 23, 500 27,000 13, 500 20, 250
16 K THT 3AR 5.00 0.00 19, 800 15,000 7,500 11, 250
17 =l 3AR 5.80 0.00 21, 300 17,000 8, 500 12, 750
(4. 50) (18, 000) (13, 000) (6, 500) (9, 750)
18 75 1| BT 3AR 7. 31 0.00 26, 000 13, 500 6, 750 10, 125
19 STALHT 3ARK 6.30 0.00 26, 200 19, 200 9,600 14, 400
20 | x5 mEr 3ARK 71.70 0.00 32, 000 23,000 11, 500 11, 500
91 AT 3ARK 8.00 0.00 26, 500 24, 600 12,300 18, 450
99 KA 3ARK 6. 60 0.00 16, 800 19, 800 9,900 14, 850
(8. 30) (26,500)|  (30,000)|  (15,000| (22, 500)
93 = FEp 4 A= 6. 60 20.00 21, 600 19, 800 9,900 14, 850
N 3ARK 6.40 0.00 22,400 19, 600 9, 800 14, 700
24 | Haar
95 1| F5HT 3ARK 7.10 0.00 23,000 28, 000 14, 000 21,000
3AR 6.50 0.00 25, 300 18, 500 9,250 13, 875
ol (5. 90) (24,500)| (18, 000) 9.000)| (13, 500)
97 SRy 45K 5.88 13.90 26, 000 21,100 10, 550 15, 825
08 JINEET 4 A= 71.20 27.00 23,200 17, 600 8, 800 13, 200
29 = JIlAT 3ARK 5.80 0.00 24. 000 22, 800 11, 400 17,100
- (6. 20) (4. 00)
20 ST 3ARK 6. 60 0.00 24 000 19,100 9,550 14, 325
3ARK 7.00 0.00 27,000 18, 900 9,450 14,175
31| A 7 50) (28.000)| (20,0000  (10,000)| (i, 000)
39 = E#hX 3ARK 71.20 0.00 24 000 24, 800 12,400 18, 600
REES
FE Y O{E 71.21 1.90 24. 863 21, 303 10, 652 15, 798
(WA SF12 EECH1T2EREERRSEEMKRES
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1 s 35K 2.9 0.00 6, 700 8, 400 4,200 6,300] 2A= 2.08 0.00 13, 600 0
9 SR T 3AK 2.90 0.00 8, 400 9, 500 4,750 1,125 3A=K 2.0 0.00 10, 000 1,400
3 s FE T 3AK 2.80 0.00 8, 400 1,200 3, 600 54001 3A=K 2.50 0.00 10, 800 6, 000
1 7 F T 3AK 2.60 0.00 8, 800 6, 700 3, 350 5,025 3A= 2.30 0.00 10, 600 9, 7100
5 a7 3AK 2.31 0.00 8, 800 6, 600 3, 300 4,950 3A= 1. 71 0.00 1,400 7,000
(2.57) (4.00)| (8,300) (7,900) (3, 950) (5, 925) (1.55) (1.90)| (8,900)
6 | =i 3AK 2. 41 0.00 8, 300 6, 300 3,150 4,725 3A= 1.73 0.00 8,200 4,200
2AxK 2.50 0.00 9, 800 0 0 0] 2AxK 2.50 0.00 14, 000 0
7 i (2.85)
3AK 2.90 0.00 8,100 1,800 3,900 9,850] 3A=H 1.75 0.00 7,800 7,800
8 i
9 s 3AK 2.90 0.00 10, 500 1,800 3,900 9,850 3A=H 2.60 0.00 11, 800 9, 600
= 3AK 2.50 0.00 10, 100 1,400 3, 700 5550 3A=K 2.00 0.00 10, 300 9, 800
10 | XEM
11 AR 3AK 3.00 0.00 6, 500 1,200 3, 600 54001 3A=K 3.30 0.00 9, 500 9, 900
12 | Bt 3AK 2.60 0.00 8, 500 1,000 3, 500 5 250 3A=K 1. 80 0.00 9, 400 6, 000
13 | e 3AK 2.30 0.00 8,200 6, 200 3,100 4,650 3A= 2.10 0.00 8, 200 4,300
14 Ly BT 3AK 2.0 0.00 10, 000 1,400 3, 700 5, 550] 3A=H 2.30 0.00 11,500 9, 400
15 13T 3AK 2.45 0.00 6, 500 1,000 3, 500 5,250l 3A=H 1.50 0.00 10, 000 4,500
1T
16 K THT 3AK 2.60 0.00 10, 500 1,500 3, 750 5,625 3A=K 1.80 0.00 9, 300 4,500
17 | sgmEr 3AK 2.0 0.00 9, 500 1,600 3, 800 9,700 3A= 2.00 0.00 9,900 9, 400
(2.10) (8, 200) (6, 300) (3, 150) (4,725) (1.70) (9,500)| (4,500)
18 | 7)mE 3AK 2.50 0.00 8, 600 5,000 2,500 3,750] 3A= 2.87 0.00 10, 100 9, 300
19 | srdemEr 3AK 2.50 0.00 10, 400 1,600 3, 800 5 7001 3A=K 2.10 0.00 11,100 9, 100
20 | xE @A 3AK 2.50 0.00 10, 000 1,000 3, 500 3,500] 3A=K 2.20 0.00 12,000 6, 000
91 A ST 3AK 2.90 0.00 8, 700 9, 500 4,750 1,125 3A=K 2.90 0.00 10, 900 8, 000
22 | KEEH 3AK 2.80 0.00 6, 800 8, 000 4,000 6,000] 3A=K 2.60 0.00 1,400 6, 000
(9, 500) (9, 000) (4, 500) (6, 750) (2. 80) (10,500) | (8, 000)
= 45K 2.60 8.20 9, 000 8, 400 4,200 6,300] 4A=K 1.90 6. 60 9, 600 6, 000
23 ~ £ BT
N 3AK 2.40 0.00 8, 800 6, 800 3,400 5,100 3A= 1.70 0.00 8, 200 4,200
24 | =EHT
o5 | JiEHET 3AK 2.50 0.00 9, 000 8, 200 4,100 6,150] 3 A=K 1.80 0.00 9,000 4,500
26 4 T 3AK 2.50 0.00 10, 200 1,300 3, 650 9,475 3A=K 2.20 0.00 11, 400 5, 800
(2. 40) (8,900) (7,100) (3, 550) (5, 325) (1. 80) (9, 600) [ (4, 400)
207 | sremmr 4 KK 2.23 4.30 9, 600 1,300 3, 650 5,475 4A=K 1.75 4.60 10, 000 9, 100
08 JINEIET 4 5= 1.80 7.00 6, 000 4, 400 2,200 3,300 4A= 1.50 8.00 7,100 3,900
99 = JIIAT 3AK 2.30 0.00 8, 400 1,200 3, 600 54001 3A=K 1.60 0.00 8, 400 4,800
— (2.70) (1. 50) (2.00) (2.00)
30 | sismT 3AK 2.30 0.00 7,900 6, 300 3,150 4,725 3A= 2.30 0.00 11,200 6, 400
3AK 2.55 0.00 9, 650 1,600 3, 800 5, 700 3A= 2.10 0.00 12,100 9, 900
31 £ R HET (1.85) (10, 600) | (6, 200)
39 =L X 3AK 2.50 0.00 8, 300 8, 400 4,200 6,300] 3A=K 2.20 0.00 9,700 6, 600
LEES
T ¥ fE 2.56 0. 61 8, 1117 7,081 3, 541 9, 256 2.14 0. 60 10,016 5,284
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